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BASIC QUESTIONS
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1.

If x=./64+./121-.169, then find the value of
28,

e x = /64 +121-/169 &, A X2 T U FE Hil

(a) 16 (b) 25

\J_Q)/SG (d) 49
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2.
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What value will come in place of question mark
(?) in the following question?







12X13






0.

J2116 =7

2116



O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR
3. Find the value of the given expression.

fau TU =S &1 WA FATE HIAU
= \‘ B*J 1601 /8 +./1681

=\ 8+u
5 (a) 5 (b) 6
\I 49 = 1 (c) 4 \(V/
16 8
QN
4 3
|600 SO



O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

4. Find the value of : \/(9 + \/(36 + \/(144 + \/625)))

&1 WF ATd SHhiTA0)
(a) 6 \(b)/c/
(c) 5 (d) 3
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S. Find the value of: \/(16 + \/(60 + J(408 +,/1089)))

HH FATH &Hi:

(a) 3 (b) 2
(c) 4 \@/(
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\/10+\/25+\/108+\/154+ 225 =7?

b@oor-a

(b) 2

1
(©) 8 @
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7. Simplify (solve) the following./fF=fafaa & wa
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7. Simplify (solve) the following./fF=fafaa & wa
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8. /4489 -.47° +392="?
CRPF HCM 28/02/2023 (Shift- 01)
(@) 2 b) 6
©) 1 )4

~ V%89 - {2209, 392

" \eros; 6‘53
0

- m:\{ 3600 M0
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9. Find the value of| 2315637 - 161 - /289

T HIH AT ahifaq?
_(sy80 (b) 250
(c) 30 (d) 150

= 23 15631-Y l61-17
'_ < 15637 < |2 \Sﬁzg:(as)f"-‘j
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10. Solve/Td Fi \[214 ‘{/59 +\16+ 3722 + /349 ?

(a) 4 N

(c) 6 (d) 7




1. If A 8 2)3 - 2
fi- (BI)ﬁq = 3%)( gwhatwm\ijal::ii B?m \/ ° then

R A=giiery w@ B={ife’y x{en

= (8 v B= 3

CE (3)45'7 B= 3'5‘*% :n;gawmw:: "

A= 3 A 3%l=3 \‘9’( (d) 3
A+8=313-¢

QmXQ - Q



11. If A=3%3(817 and B = §3(3*) x {¢/(3%)° then

what will the value A + B?

'qfa A-\/\/(=]-':P a4 B = l\i/\/sT)a 66(32' H\T

A + B & °H &1 87
(a) 9 (b) 4
\9/ (d) 3
9 2 jor
A 31_3-
A + 3

3+ 3%

£

X3

~



(0.0 _) - 0.0004
(o 002) - 0.00000<
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12. What is the value of (\/(0«-07)2 + (0-2412) + 25

T °1H T 87
(a) 2.5 (b) 0.1

(c) 0.25 \[9/6.01
On§ = \g ((007)*+ (0.240)" ] <25




O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

13. What is the value of 3/0.02 + ./0.000049
T |IH T 87
(a) 3 (b) 0.003

(c) 0.03 \9)/0.3
st A 0.02 *{W

= 3

:9_-__3..






= 10609
6103)9' — (106x1) 219

(203)2' = (2.06xz)oq = £1209
(303)9- - (306x3)09 = Q1809

(4oy)? = (4o8x4) 16 — 63216
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102 + .02 +0102 @4 ./104.04 +/1.0404 +/0.010404 is equal to

J/104.04 +/1.0404 + /0.Q10404,F & €

(a) 0.306 (b) 0.0306
(c) 11.122 \(9/1/1(222

9398
0'\1002? 045y
| 1.3% ) @ o
10 100 )y



O AMATHS IS A e r s eeam_eY ADITYA RANJAN SIR

15. If /5329 {: ) then value of
13 + 1.3 4013 40013+ 0. 00773

V5329 +./53,29 +/0.5329 +/0.005329
+/0.00005329 is

ufe /5329 = 73 , @

/5329 +./53.29 +./0.5329 +/0.005329 F U &
+./0.00005329

0 (a) 81.1003 (b) 81.0113
3 (c)81.1103 (d) 81.1013
3
0




COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams
A= 0 02 X 0- 02
\[16000x810.X 2

(o.-oz)2

2X3XI0XSO

Ax B

ey
= wa

SBXI0XS) Q= X105

SXo1 < 3§x \0-
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J0.0004 x 30.000008

I A = 16000 x3125000 x¥810 274 B =
30.729 x ¥0.0016 - bk o i e
x
JVO0.16 - el
/0.0004 x 3/0.000008 .
afz A = = - #T B =

416000 x 3125000 x ¥/810

30.729 x ¥0.0016 . . .
; . ATAXx BTN £7?
J0.16

(a) S 10 (b) 7 x 1077

7 - 7 7
(€) |4 )x1% (@) (g]xm'




O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

\PL’X}; - " 0.324 x 0.081 x 4.624 .
5625 o3 ' \1.5625 x 0.0289 x 72.9 x 64

= 3, =00 (a) 2.4 (b) 24
s (o) 0.024 (d) 0.24
-SS— = 08 lSﬁ—@
=2 =0
%9 'L 1&3
—3_ = OQ\I
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LS. What is the value of
! y X 10° IO2 + 'iX 10
dyl0' + ‘L o7 V29.16 Jo 2916 Jo 0036 9

0% \ 1.1664  J1116.64  J0.36

2 X | .
1x 0% + | L —I'E’- 102 V29.16 | J012916 , V0.0036 -
\E \' , ; Tose W WM W ¥

v1.1664 116.64

-§+ R SSC CGL MAINS (08/08/2022)
2XlD

10

5 B3 ' a) 101 \Moa
- 41l =100+

TSR ‘"“21611 20 20

26 27

© 5 @ 5
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o 4+ LT
73 20

—  o0+142
20

O
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18. What is the value of

J29.16 2 J0.2916 " J0.0036

J1.1664 ./116.64

v/0.36

J29.16 L J0.2916 d J0.0036

J1.1664

101
@ S5

26
(c) 5

J116.64

SSC CGL MAINS (08/08/2022)

T 9 T E?
J0.36 6

\Mos
20
27
@




2
i~ 212349321

(Y = 123489321
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19. Which of the following statement(s) is/are

TRUE?/ﬁvri}—-rﬁaa 0w a‘r?l “HT/9 FIT GA/Ee/?
1l [
A \/12 1+J12321 + /1234321 = 1233 "

M (J0.64 + /64 + 36 +/0.36 ) 15

(a) Only I e
(b) Only II
(c) Neither in or II

\(d)Both I and II

28+3+6+05
b |S.L,
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/80 J112
20. The value of a5 - /63

_JI6X5-W \/7 \/112
- Vaxs— 9xq Jas - J63 & T 2

IR ; ;
S -3
- (a) - (b) 1>
j;£§<§b 4 4
(

1 22
3 ) 9

RN
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J72 x /363 x 175
-!36X9.X~|3X|2' XN25XT 21. The value ol{ is.
16X2 XyYaxs X Uxqx- V32 x V147 x /252

_ ﬂ/xnﬁ/xsx)ﬁ/ T W AT il
4?77 x'l)@'x;’ya}# == a5

- @) 22 ®) 56

Q8
45 5
©) 58 %
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3.8 -2V12 + /20

22. The simplest value of ——
3{Gy2 -24x3 +|4xS 318 - 2,27 + 45
3y ax2 -2(ax3 +{aXs T W ATH i
- a5 -2x28 +218 3
3x3{Z — 2X3{3+ 3{s (a) 5 by 3

= &(3ﬁ—ﬁ'fi+/\rs) 1
B Sl (@) 2
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IF SQUARE ROOT IS

INSIDE SQUARE ROOT
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23. The square root of 14 + 65
14 + 65 & THA

(a) 2 +5 \(ya/mls

(c) 5+3 (d) 3 +2V5
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24. What is the value of positive square root of 30

+10V5 ?
30 + 10V5 &1 U= TYeT a1 | &4 &7
(a) 2V5 + 3 (b) 4 + 25

_oY'5+15 (d) 6 + V5
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26. What is the value of V3 + \/93 -36/3 ?

V3 + /93 - 36./3 T WH T &7
(a) 3 +V3 (b) 9 + V3
(c) 3-3 UH9 -3
. 3+{ 3 2xiegs
£ BB m
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{ul 1242
ma;m

B=\36-1632 5.

36 —2x8

If the positive square root of 41 + 24V2 is A
and positive square root of 36 - 16V2 is B,

then what is the value of A - B?
afg 41 + 2472 T gATE T A 3T 36 - 1612

& YT 99 B €, 91 A - B @1 U &1 87

(a) 3 (b) 1
(c) 2 \J;-;{

(4{z+3) (42-2)

%3 ‘l)?’z.pl

6
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28. If x =+31+2J30 —31-2.30, then what is
the value of x ?
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af? x - \/31+2/30 -31-2/30 T x F WA
& 57

CRPF HCM 22/02/2023 (Shift - 02]
r2 (b) 2.2

() 215 (d) 4

x=({3p +{7) - @ -7

:){H“%-H



Q. «- \ a+b +ya-b

b («)-(raw +la-b J
o %= (fam)+ ({a-5)*+2 (@®)(a-b)

3 Az O%i- 076+ 2\ Q2o
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’l -9aQ +,2JOQ"'bQ

= 9XY+2Y16 - (W)I

3
S o= 8+2{16-(0+2¥5)
S o*= 8+2\ 6-248
A) %= 8+2(\(':'-'5 - j_)
5 Wz §+2@_2
:) ’&:\!61.2@“
3 L S 4 A
X:"g% )
Tl 2328

If x = 1{;)4_(:?104.2:25)4. V‘{q._ \/10+2J§ , then the
b
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value of x lies between:

A x = \/4+10+2/5 +4-10+2/5 ,

CRPF HCM 28/02/2023 (Shift - 03)

(a) 3.8 and 4.2

\[s)"3 and 3.4

E Yy
— \‘,
G- 32

(b) 3.4 and 4.8
(d) 2.6 and 3

FﬁxEFT
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\[ 5+ ne = 3 +‘Q 30. Which of the following statement is correct?
freafafaa ¥ 9 &0 a1 w99 98t 872
\I 2\'“‘{
\‘ S+ullv’ = \{’z+22x L./ The square root of 5 + 2V6 is V2 + V3
= 5 ..
il 6 5 + 2V6 T T V2 + V3 Tl
= 18+ = VT3
i j<lf J15+4F VX iy, then x +y = 15
4= - xy =
Y= S afz 151414 = Jx i+ y, & Ax+y=15
9T xy = 50 T

(a) Neither I nor II \@/&:.ly I

(c) BothI and II (d) Only II
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2 2
31. u\&m " 3_1/5).:@ + /6 ) then what is the value of a?

afd /14 + a3 = V8 + V6 &, T a T WA T &2

(@) 4 (b) 6

() S (A i)™ d)

4+08= Q46+2{Bx%e
) e \ug < {Tsx
= . 3

=) )J‘(+2W8 = UG

Q\\%: oy

Ve
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'\{ 52- 30{3 @ H@_ 3@= then (a + b) is equal to:

= ~2x15\3 ‘
_ :{[52 == i /52 -30,/3 =a +bV3, (a + b) T :
- 52-2\ 675

(a) 4 (b) -4

= (& -Jes \M (d) 2

- bﬁ—S) = a4b{3
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\] 5‘4-20454 33. If 54-20/2 =.a + bV2, then (2a + 3b) is equal
= \| 5q-2xlo{2‘ to:
- \l 54-2y20 ?Tﬁ'«'\/54_2o¢'§ =a+bV2,dl (2a + 3b) T T
= 50 - (a) 8 (b) 4

2 --— a+bfz  (€) -3 Jar1l
Sﬁ/ W{ _&?35
' T TM+IS

, ~
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] 99 -2X615 34. If [29-12/5 =a+b\5, then the value (2a + 3b) is:
- \] &9"2]@0 afq ng_lz\/g = a + bV5, d (2a + 3b) &1 WA &:
= J(20-Y9 \(_a)/ﬂ/ (b) -1
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Wg \}5 If \[43 -24/3 =a+ bV3, then the value of
= \I US:@T‘Q’E (3a + 5b) is equal to which of the following?
=\ 4y3-2\432 3 [43-24J3 =a+bV3, N, a (3a + 5b) F "
= {& - 16 frfafea & | faa awar g
7? @L@-u = a+b{3 (a) -8 \M
3

-~ . (c) 12 (d) -11
ﬁ @ 3a+Sh

= TI241g
=




R AMAT HSE S A o (s eream_BY ADITYA RANJAN SIR
\l '13-2)(20\5 36. If \;{73_40\/5 = a + bV3, then the value of

- \| 13 -2+ (200 (3a + 2b) is equal to which of the following?
= (us -Jas W [73-40/3 =a+bV3, %, T (3a + 2b) H "
- (4535 = a+b{3 freafafaa 9 | faas awEr 27
ﬁ (a) -2 (b) 7
< =b}§ (c) 2 \9/7
- BeRp
o3 ‘-lS*'-B

=



BY ADITYA RANJAN SIR

COMPLETE \j";¥ ¥ s 8] COURSE (For all govt. exams

[27.9
_ 5(3-4{3-yf2+5(2 LJas
1= 50 346 37. Ix= 3 %‘\/Ewu____\/s_omdy:_ 7-4.3
& X\[2
- % ) %'3 then the vallﬁ )gtg(x -Sy] is closest to: CTQIC?-\B:H)
5.3 -./48-4./2+./50
x-Y s 3+/6 + Y-S
o T;Lﬁ_ (1-u\®) A (x - y) & | frapeam #:
= GG A Ms (b) 0.8
3 (c) 0.4 (d) 0.6
_ J%ﬁ__'
= Rxiyony
I
& ~ N3



”
i
= Q‘*—é—) — (a +é2
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0= \“\""qE If a = /11,4.6, then what is the value of
a- \(n+2 v Q
(o?= 11+242Y o [J_ +
(M+2E&)+ __|
(n+2 {24) = y o 118 3
?Jff.’a—\f11+4vf§,€,’m‘ 5 ohl |1 &= &7
e (||+2\[§L{)_|. 11-23 Y a
. NS
=
IS +50By 411260 \Jﬂ/ 286 + 96./6 ) 186+95/6
. 33 . 25 22
- B+yg
- 32y
- I — ) 272 + 90./6 @ 95+ 98./6

21 24
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b- \lhé*r 39. Ifa= [/g-.11 andb= g, /11, then what is
\( 21200 the value of (b - a)?
Q—_ED afe a= Jg-.11 ITb= Jg; 11 %, T (b- a)
T W T 77
0= UL (2) V6 A2
(c) V22 (d) V3
b -Qq
rﬂ) (\r, \>
i \+\ =3¢
2
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f
40. lfx=\/—J§+\(3+8 7+4y3 where x> 0, then
the value of x is e 1;? to;

afd x=-/3+3+8/7+4/3 &l x>0, @ x
&1 W THa& aiTav §:

(a) 3 | (b) 4
%= et s 92
5 \l_:ﬁ-\'\h‘* 8(&+ B )
S \‘;ﬁ"'ﬁﬂm-g@:
; ﬁ+m+{:
R Al
»: “\‘l-\“\()%



X (a+640)°= o+ b2+ -+ 2ab+2bC +2ac

% (X+y +E)2: (=) %+ (V9 (7Z) 4 207G +20g0=

- +2 I
_wz < 2@4—2@ + 25
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41. Evaluate 10 +2.6 +2.10 +2./15

qeaTehRT HT 10 + 2.6 + 210 + 215
™ V2 +43 o J3+.5

thn ((Z+V3+45) (@) (3+5+y7

MW3+s +2{6+2e 4211
2812 (% 42T



o . ,‘E-‘-Q_{E_-f-z{é'é- +2418
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42. Evaluate

(V6 + 10 - V21 - V35 ) (V6 - 10 + 21 - |35)

UedTehd i

8}

(V6 + {10 - V21 - V35) (16 - 10 + V21 - 38)
(a) 13 (b) 12

T G g g



42. Evaluate

- ™ = - - + "

- (({&-135)+(B-21) [B-35)-(4i5- &) (V6 ++30-21-88)(/6 <10 + /31 - 58]

<+ ¢4 P - % ’;T_Tmf__ pp——
- 6+v"10—v’§_i—\'35 6 -J10 +/21 -+/35
* ({6-s) - (fo-=1]" o o
= (6+35-2{81 )- (10+21-2210) - o

= 99 -2470 _31_}%

- 10

(Q'l'b) (- b) :Q‘l_bz
(mb"(‘d) (Q-b+¢-d)

) & Q-d) +(b-q] [
Q-a)-(b
(P*l'(p ('P"%\ B} P}- %1'()]



= e D)

43. What is the value

9
9 - 3(26 +15/3) + 3/(26 -15/3) = ?
(q):@l Q6+15{3 + ab-ls@] vz 3126 + )+ '
2o 964sd5+36 565 {126 +15/3) + {126 - 18/3) %1 W = ¥

+3x1¥ X - & i
N @) 3

(ain)- Q*+1* +3ab(a-+b)
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TYPE - 03
IF SQUARE ROOT IS IN

THE DENOMINATOR
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‘ {B+{7) X(y3+42
(@#ﬁ il 44. The square root of V3442 is
' 1 V3 -2

= ({3 +2)*
(3-2)
= (3+3) V3 +2 Y
- S T
(ay3 + V2 (b) V3 - V2
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Q+ )(\6.}_&.:.{5-4'3?—1;2 2 6 1 1
3 4 45. +T+2+\/_ B3-2 equals to
= 8+@+/5'@“‘r37a/
= g 2+i+ - - 3
" 24628 B2+ BTt
(a) + (2V3) (b) - (2 + V3)
(c) 1 19y 2

3-y-

-
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d " J6+43 V3+1 J6+2 v eqEar o

"_' 33 __2/6 , 2/8 . .
‘W \/6+\/§ \/§+1 \/E+2 -
(a) 3 (b) 2
\(M (d) V3
m:ﬁm

N3
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15 (\E +1) 47. The expression
J2+2+202-1-4 N2 1
15(730 +5)
= IS(\l_'H) Uﬁ+\72'—o-+m Qg m is equal to:
-343@ Jo 49 +\VB — 1 -\16
- .%@X(EH) 15(\/—0*_\5) n |
/3/ \r2"'l) (\rzn) S 710 + 720 + Ja0 — /5 - /80 & TTET £
= S (Nas)?
= _-‘S:'_l-}_- (a) 10(3+2\/§) (b) 5+2.2

_ %(QBH-R(‘E) \(9/5(3-»2@) (d) 5-25
S (’34-2,@)
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32 43 6
ThevalueofJ— J_ 76 + \/_ T3+ J_

3.2 4.3 J6
16 6142 Jarda T8
(a) 4 (b) O

(c) V2 (d) 3V6



O AMATHS IS A e r s eeam_eY ADITYA RANJAN SIR

The simplified value of

WY s __ 55 22
B2 J2+47 JT+5 =

3ﬁ - SME + 2\/5 =T -~ | %
JS5+v2 JV2+J7 J7++8 —— '

(a) O (b) 1
(c) 5 (d) 6
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\[?,-hfz . N— = 1
- o 4
M1-2/30 J7-2/10 8:+4/3
M X2
(c) V2 ::: wlls
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£ =6(5_qﬁ) 51. What is the simplified value of ©
544{3 -23 L a e simplified value o 5+4\/§?
= 30-24y3
-23 6 .
- &3 —30 5+4./3 W WA v g
23
\w(z4J§-3o 13./3-15
23 (b) 27
24./5 - 25 153 - 24
(c) d

25 () 23



\

0l

N

10+242]

)
(\ﬁ +(3)

52. The value of

1

1 2

1

,j(l?- - J140) g

'

() 2

- §x(5- F-®)
M2

[a2-1%0) " [(5-7e0) 10+784

1 B 2

[8-760) 10, Vsa w

(b) 1
(d) 3
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{

i _  + 1
(ﬁ—@)hﬁ ({2-¥3)-{3 s3

, .ﬁ_rg_@-l-ﬁ'\lg'l’)@
(B-{8)* (¥3)"

- &2-8¥s
(2+5-3¥%)- 3

= Q(y7. \[‘S)
‘I z\ro

T ®

(1

1 1
I:JE+J§-J§+J§-J§-J§] in simplified
form equals

[ m - — — r_+ = — -
ponr - Lf'zws-\;s \/E-qa-qu -

(a) 1 (b) 2
() = (d) O
CA ‘%*

X it

—
1

r:




0-54

Ans

N Y

B TR et S 1
BH{q  q+J5 616 6+

{ I I —Lﬁ
i B TBHE iGE:

VT3 + BT +A8- 8 + 7 &

@ V37
ORIERE



0-54

Ans

; I ——— =
J—

[T +\l
3 S +
\l vy J6+JV5

:@—rﬁ-ﬁ/
o

\iC

1

\|'é+»ﬁ
I+
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COMPLETE \JV:¥ ¥ s N} COURSE (For all govt. exams

1 1 1
B -"'—-1— S55. The value of + + +oeeot
\[_iﬂ;i+@+ﬁ Ji60+499 V2+1 J3+yJ2 J4+43
- %1%(\137?25*_ (Voo 1 -
- J100 + /99
= J100 - |
— \0_\-61 1 a 1 . 1 1
) 2+1 J3+v2 Ja+3 " J100+499
oA g

(a) 1 (b7~

(c) V99 (d) V99 -1



(@a+R) (@@
(100 +4aa)- ({Fa+ e %)+ (19 4 "
( .. 4 (J2+1) 56 SmPUly 556790~ Voo - /o8 *

" {Bmﬁq/-ﬁq/-ﬁfﬁ“- - - +@ 1 1 1
‘“—"”‘r Jo8 -Jo7 ~ Jo7-J96 "t 2-A1
- |00 + | o
- O+l =1} - |
(a) O (b) 9

(c) 10 911
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4+ __ + 1 S7. The value of
1’57,1|‘+€-1r72 T +VB . 1 1 1
- (B )HEAR- - A-E) 1,2 BB Bava B
= N9 -1 = 3-1=90_ & UA
(a) 1 (b) O

2 @) V2



1 1

58. The value of /3.25 1+ /2.25 + 4.25 + J/3.25

(W‘S/-\I'Z—QS)"' (mg,-J}_A{Sjt ) 4-(\.63-5-»1?{5) . "

* /5.25+/4.25 & 16.25+/5.25 °

= \‘6-2 ~\J223S & °=
(a) A1.00 (b) 1.25
s 28~ 5 (c) 1.50 (d) 2.25

A ¢
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( \‘———+ J—g) \|__9+J_\4)+(ﬁ "'ﬁ) 59. The value of

_(FN'B) . & . % %
i 4-J15 J15-V14 J14-J13 |13-/12

—{_+)FF€JE/)[;"7//‘W/(3+ N IR S
8  Ai2-J11 Vii-i0 J10-3 3-8

1 1 1 1
= \h_e.—ﬁ J6-/15 J15-\14 J14a-\13 J13-\12 '

= gq-2(2 1 1 1 1

— T— + i
A2-J/11 J11-410 J1i0-3 3-8

0= AT H
SSC CGL MAINS 29 Jan 2022
(@) 2+2v2 b) 2-2.2

\sY 4-22 ) 4422
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\ﬁ(-a- JaT J26 -73 _b+a3

60. 11 b > 0, then what is

ENNTEESG \/14+5J_
the value of \/(b a)?
- \l 52-2{47

Na8+aiTs i J26-7J3 b+ay3 L i il
a f - > 1. Wt
= J§ 14 + 5.3 11
= dUe-J3 _(G-(B3)x(5-R) vi4 +

V95 +3 {35 +3) (S-B) [p_a)= w= farmm £rm?

= 35-{1x.-
- M SSC CGL MAINS 03 Feb 2022
= 38-1(% SE
BT \(a¥'5 (b) 25

9&: b“I-Q{é {) (c'\{z\ b

U H
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~ V38-5/3 a+b\3

- \/26+7\/§ 23
(b - a) is:

, b >0, then the value of

J38-53 a+by3

' J26+7J3 23 2208 MP-a)W
q= faraar grm?
(a) 7 (b) 18

\(e)29 (d) 11



O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

(G +J§l— @_ﬁl \/5+2J§-\/5_2\/§ -
(|2{3+q8-30—204€) - (4V3-5/2)x(3V2+4J3) * 2 + b3, then
)P}/-\-{é ﬁ-‘hﬁ— the value of (a - b) is:
- 18-8V6 _ J5+2/6 -/5-26 i
= .@/\rl = _&& (4\/5 —5\,-'5' x(3\j"§+4\/§)" a\J2 +by3, T (a
Lg-{iﬁ “We - b) & W E: @
Q.:...& % \13- UI
1S b:-i-g M (a) % q*&@ (b _%

O'b':.- - - —1S S\B
R 47 1

- 1
- --_L (c) T (d) -
(S



COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

\E x 1
(ﬁ%ﬁ

=) {5(\]—3_-&) — Q+bJ6
:

= Q+b\)—6_

bl - ~ 7 "

BY ADITYA RANJAN SIR

J6 1 1
X 2+ (JE+J§—J§+J§—J§—J§J - @

+ bV6 , then
what will be te value of (4a - 3b)?
reoalvo o e e e
V2+/3-8 2-J/3-J5) °

+ bV6 W&l a 3w b wifwfea guiet (F&ww) &,
(4a - 3b) T G FAT FAN?

(a) 9 \(9/(5

(c) 10 (d) 12




—

‘/_ 5V2 _ 3J10 1
,8@(15+J§)-5’{5(®+J§) 4 ==& Jfio-b B-Bla_B "2*

bV2 then (15a - 2b) value is equal to

./.g,l_o(\r)f\rs) s §2-hf5.) o 8.5 5.2 3J10 :
J10~J3 {10-J8 J2- 5 -

r0+,\[7<{)1?/)?b/ ﬁs+\[‘0+(2+ﬁ)+b¢23 T (15a - 2b]in‘r1:;a?ngm

(a) 3
= o2 + + (2412) ) © & —a

|
N
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@ Appwyimaixm
23
65. The value of 5V3 + 7V2 - V6 - F I is:

X132 AIXIUIY-244 - 23
F4Y+l-732+2-Y40

23

- B8.6604+9.-898-24y- 23 5V3 + 7V2 - V6 - ———— is: T UM A
S~ —— S_S_é-e \/E + \"3 + V'G
= 618 -~ 4. &HITAT
= @ (a) 15 (b) 16
sy 12 (d) 10
3=y
. 8=2.
\%‘:1-732 k{q
Y=o
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

3.)u6+2 J2 +/3 +V4
quo+2X I-ud +4 66. Sol ?
3 {42 W0+ o€ 213 +J6 + V8 +16
o S.\46_
= ——p 1 BT hITAT?
. T J2 +/3 +/6 + /8 + /16
PETa = -
Yy Q3. \-Uiy
W V2 -y \{b] V2 - 1 z0yy
|-y 2 =Yy _
—t (o) ] @ 3 -2 "8
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5 - V21, then the value of

COMPLETE \j";¥ ¥ s 8] COURSE (For all govt. exams

\|5"r2_' 67. If x

\| 32-2(5-V21) 2| y--
. -\] S -2 - V32 -2x -/21 -
N Q9+42{21- (2] =
. VX s
= (\[ I0-2\l§,_|> X 1 g x=5-v21 B32.-2 21 o | B
a_ é}‘l/'l' _I ] &( v - &aX =N
= 1
- — 3 -7 _(J7-3
i _E @ VT (@ T

) %(\/5 - J7) @) %(7 -3)
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\‘ﬁ-h{:i— X’%:@ d \ﬁ 68. What is the value of gig -JJ:::iJJ::g +
. (T x o + 2 - P b - (atbsolt)
Vo LAKo N k__\lJEd_ﬁ; a-b
= I+ -

J7 +/8 A J14 + V10 V10

o U1 AT 22

— — &
\7-\5 *\.14—*\;'10 5
SSC CGL MAINS (08/08/2022)

(ay V2 +1 (b) 22 +2
€ V2+2— = (d) 22 +1
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TYPE - 04

SMALLEST AND
GREATEST VALUE



')



O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

69. Which of the following is greatest?
f= o ¥ &= gay =27 2

(a) 3% \y/sa’

© 2% @ (2°)

£

32 33 ?3 @3)
QD o

9
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Which of the following is greatest?
™ = d @ %9 gad 9397 g

(a) 3333 (b) 333°
(c) 33 \(9/3333
3 33 2]
3333 (300) ©] @
< @000 < ang < 2
'3‘_53
o 3‘3"1 g)
~y T 4
L 9 18
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33X

BY ADITYA RANJAN SIR

70. Which of the following is greatest?
=1 o 9 9 wad 927 2|

(a) 3333 (b) 3333
(c) 3% . (@ 3
9
333> 3333 23
e

3 ~(300)° 13/
s § <G







Type?

<§|('_)r_',\ @ 450

Note power — Birccj — HCF

H(F (100,200,50) = SO
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Y Sl . 1" 71. Arranging the following in d¢Scending order
9 2 334’ 251’ 77 we getg:[afﬁ}
HCF (34,S111) =17 frafafaa = ot &8 o saaftaa &t 3%, 29,

77 TH UTEH &id &

(32)” (23)0 C_',)l'\ \w/a:;q} 2515 717 (b) 717> 251> 394

@ (9" (pyn OTTE @Eeen

3?"‘ >‘2$l> j M
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BY ADITYA RANJAN SIR

39‘30 3|9° SIOO q2ﬂ° 72. The smallest among the numbers 22%°, 3150, 5190
and 43°°
H(_P(Zsol (SO, |OO(Z,00)ZSO Q250 3150 5100 3T 4200 TrErsd o 9as B
SO So So %0 . = \"yzm
©)" (30 (8 (497 (o) 310 (d) 225

.7 4

Q7

QS

9S6
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(9_9_.5)2“l (—-,,5)5q 73. Which of the following is true?
frafafee & ¥ =@ o1 98 22
e rs=2 (a) (22.5)" > (7.5)* \(9/62.51” < (7.5)*

2) 22.3 7 = T 54 ’ 27 : 54
(22'8)21 1:8*) 5 A0 = (d) (22.3)*" = (7.5)

2°2-S < S—QQ_S_
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74. Which is the largest among the numbers, V5,
3V7, 4713

H-

St Hemai \/5, 3V7, 4V13 ¥ waw adt §
(b) 3V7
(d) All are equal




@
- 2
' 3
/
)

Not
e-
- power -
d Ta
GH
onsS—y
Lern)

LC
m(12,6,3
v el
X8
Q 35’12
32 q_‘!?XJ-Z'
4 8#)(1%
83



By ADITYA RANJAN SIR
& 5”‘ l?y‘s 75. Which 36,2 i
6 7, , : ich one among ‘@,\/E and $/12 is the

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

Lem (%2:6)=6 - G e
_ . 36,5 3T s ® W HA TAH TLT £7?
&, T nF @) Yo NUZE
6'2, g3 12 | (¢) %12 (d) All are equal
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% |
Y3 13“1'1‘ lb-é, y|'o 76. The greatest among the numbers

8%
cm(Qqsm)—-zo 3/8,413,316,Y41 is:
W L X0 %/E’ ﬁ, 3/];,19/4-—1 ﬁ m a?:':i' '{T@T %’;
, B7 TR
(@) Y13 (b) 916
\9 | M| ){" \96
8" . (¢) Y41 (d) </8
16
Q'-E;‘illi) qug A [v (6”
= 231\_0

XY
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\]__ Qi | & ©3  77. Which shows the correct ascending order of the

% ”_A_ g (3)6 given value?
Z mmﬁqmwmmmmmﬁnﬁ

5:'5'*6 ”‘éicé 2 36/ qotiar 872
52 n* 253
s 12) 92 (@) V5,311,293 (b) V5,2%3,311
J11,.5,2¢3 @) 293,.5,311
i 18 ofF
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COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams
I |

4/3 2/2 3116 gz' 78. Arranging the following in descending order,

U
F° 2#"'%6 3'3*22 5-1&3‘“’3 we get 4, V2, ¥3, V5

4 frafafaa =1 sETE wn o safea &= w, g7

41 2% 32 s3 - .
’ ' / Ya, J2, 3, 5 wra g ¥

W6 Gy 9 12 G
\(}J/‘\‘/Z}‘{'/g>\/§>§/§ b) ¥5->34 >3 -2
ﬁ?%)%)@% (c) v’§>f/§:>‘(’/4—l>45 (d)%}%}ﬁ}ﬁ
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The greatest of the number

W
2/8,413,316,'Y41 & wa® <t WEA
(a) 413 (b) 516

() Y41 (d) %8
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Which one correctly represents the given
yw Vvalues in descending order?
___.,..—-l"""

— @/ o fau nu uE @ 9ed g0 %9 § wE aviar §7

DOE PRT 11/11/2019 (Shift- 02)

(a) '¥25,%10, ¥3 (b) ¥3,%25, $10

() ¢10,'¥25, ¥3 (d) $10,%3, 325
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J0-09 \’3'0-06‘{ 0-S —% 81. The greatest among the numbers

— 3
_ 03 04 05 ©°% 509, %0.064,0.5and _is

P N 3 ., - . i A
J0.09, Y0.064 , 0.5 3 _ H H Hay 9SG 8

(a) J0.09 (b) Y0.064

(c) 0.5 \_(9)/%



0. (I7-18) (F-13) (V%)
A

(15 3) (@3- =)= )
3 (2-1132) (112 lyy) ("‘4'“"")
0.268 <0-3|3 < O-uiy



0. ( {88 (T~ 725) (/59915
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COMPLETE \JV:¥ ¥ s N} COURSE (For all govt. exams

82. Arranginga=V6-V5,b=vV5-V4,c =14 -3
in ascending order, we get.

a=V6-V5b=1V5-V4, c = V4 - V3 &I 3TE
%Y H @A T, 9 U £
(a) c<b<a (b) b<ac<ce

(c) a<e<b \_yl/ac'b«:c

Qb ¢e
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BY ADITYA RANJAN SIR

83. The greatest among V7 - V5, V5 - V3, V9 - 7

V11 - V9 is

7 -5, V5 - V3, V9 - V7 V11 - VO ¥ wad =IgT &

(a) V7 -5 \(M5— V3

(c) VO -7 (d) V11 - V9
GIYQQ*eSt = E--@

Smallyt

-y
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84. Which is the greatest among (\/E-\/ﬁ),

z E—G
a (@_Jﬁ),(f {5) and (f f)'»



COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

BY ADITYA RANJAN SIR

(I - \Iv )285. Which of t.he foﬂllowing ii true?
-2 T frfafaa 4 9 9 ar W@t 87
- 31-2y=38 (a) V13-/7 <\17-14
=3l-2xiss ) V13-47=17-14
< 31-9)

. ©) VI3 -7 < V17 - J1d
& VI3 -7 > Vi7 - J1d







Q+b = 8

| +71
2+6

3+S
Q44

Qb= ma)‘m

|2
1S



3)
Y ,(54—(4)(
) 86 2')6
\ S-Hf;)

Aog
(Js+
B
S (J6+4) D (1A
+13) D(
J8+\z
2)

G
o\ N
0. T



© (W@WSP CWW)) (11880 {201%)
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86. Choose the incorrect reaction(s) from the

following:
(i) V6 + V2 =5 +3

\(iH} V6 + V2 < V5 + V3
(iii) V6 + V2 > V5 + 3
(a) (ii) and (iii) (b) (i)

\l‘ (c) (ii) \(9Y (i) and (iii)
NSRS
2
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87. Which value among .11+.5, 14 +.2,
J/8 + 8, is the largest?

JA1+5, V14 +J2, /8 +/8% ® @M |1 =
(a) V11+/5 (b) V14 +.2
Jsf VB +8 (d) All are equal
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88. Which one among .10+4, +11+.3,

J7 ++/7 is the smallest number?

\/10+§:4 \/1 7 W | WaEH BIEl

(a) \/_4'\[_ \9'/\/1_1+\/§

() J7+J7 (d) All are equal




O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

89. Which of the following statements(s) is/are
true?

ﬁn%r&aﬁﬁﬁmm/ﬁaamm?/‘ﬁ

\/\/1_1:7'70/@5
X Fﬁﬁ:* J15+ 13

(a)Only I (b) Only II
c) Both I and II (d) Neither I nor II




BY ADITYA RANJAN SIR

90. Which of the following statement(s) is/are
true?

fafefaa o 9 &9 91/98 99 99 /872

K Jgis>ﬁ+q3[3
M 617> 815

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

O
(a) Only I (b} Only I and II
(c) Only II and III (d) Only I and III



O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

H:ﬁg"'m 7 z:J’E—rd‘_ue 91. Ifx=.11+.20,y=/15++17 and
2 . z =./14 + /18 . Which of the following holds

true?
Y’z afg x=/11+.20, ¥ =15 + /17 3
z=/14 + .18 . Fafafes ¥ ¥ &= a1 9= €7

P x<y<z My<z<x
I y<x<z UH x<z<y
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92. Which is largest among V16 + 2, V19 + 1 and
V18 +J2

V16 + 2, V19 + 1 @41 V18 +[2 ¥ & &= waw =g
&7

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

DOE PRT 11/11/2019 (Shift- 01)

(a) V19 + 1 (b) V18 + 2
(c) All are equal (d)N16 + 2

(\)E-\-Z) (\WSH) O +&_§)

(%Tf) (9+7) (i 1)
18 &
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93. Which one among V12 + V3, V11 + 2, V5 + V10
and 1 + V14 is the largest?

J12+V3,V11+2,V5 + V1oaar1 + V14 & ¥ &
T TaH TS 872

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

DOE PRT 14/11/2019 (Shift- 01)

(@) V2 + V3 \BA5 + V10

(c) V11 + 2 (d) 1+ V14

(\\TQ":\FS) (\r'l"rz) (\@-l-%) (\-\.\ﬁq)

R Tts) ey (e

3 L S 13



_Zme froduct
©. (ﬁﬂﬁ),(\f?‘f@)(ﬁ*ﬁ)

Basic  (y2+2)" = ﬁ*@

({B8+3)” - l|+
(FN‘) = |0 @
\'h’l(.l(___~, IL{

RN

Bla nb'\\ VQR“LT\



0. (15+¥6) (Vio+V9), (VJus+i2), (VG0 +IT)

. |9 ‘-ﬂ 9'

(Vo4 1) (Fas+2) > (T6+8) ) (Vo+va)






) (o -V3) (145-V2) (V78 -6 ({80-VT)
9 41 o .

(@o-7) > (J4s-y2) ) (18 -18) ) (Yio -va)
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TYPE - 05

SIMPLIFICATION OF POWER
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L——'g = 94. Simplified from of ( ol ] is

= X =% I s/

s/ _3 3
(5] s

(a) x° (b) x



COMPLETE |\ Vot
{ ¥ M) COURSE (For all govt. exams By ADITYA RANJA
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% "
5. [22}1‘% 2‘)(2QX22 on. {8 - @9/4\/2 X 22 ~1/2
22

o7 I
g ™ e _ —
{8-{2% xzxixﬁ}_": |
_ {8— {2 -/+/+|+%_ N lg_ 49/4\/2_><22 /2
T {8-{.& Sl ke #
- X1
i {2 )‘ (a) 32
8- () 1 \((;:/cs:



-_L) jf)(_L

“(Y(3)”
(@) (@

1 Y7
0.08 o §
96. If A = (243)°2 x (243)°°* and B [216] %

zx( }L(/)

B
[ 27J then what is the value of A ?

g 1 )%
afa = 0.12 0.08 T - &
A = (243)°*2 x (243) B ( e 6}

= 36-81 =36 (zle%ﬁ'ime%?
)

DOE PRT 13/11/2019 (Shift- 01)
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COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

2 o 97. Simplify: [3/3/579 ]‘ [3/3/579 ]4

a4

, 4 : -
mw w0 | 967 | (V957

(a) 5 N2

(c) 5° (d) 52

Qm an - qm'l-')

-
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COMPLETE \JV:¥ ¥ s N} COURSE (For all govt. exams

Srpa——)
" V2 x 22
98. 2./2-2 is equal to
‘ ]
. : \; .
g — 44 \/2 x2’
2\,{2? J & TTaT %-
\
(a) 32 (b) 8
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0.20 (§—20.13 x_§2°'°7)
ﬁw—_igg)?gw 99. Solve: (20.25 x 49975 80.2) >
7
= &1 ﬁ’ :/% \ (320.13 % 320.07)
S

& e (20.25 x 40075 » 80.2)
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100. The value of

(625)**° x (25)*° (0.49)* x (0.343)*

R 5 < (BT ¥ (024017 ¥
8412-20 Y 16.25 2,26 4 -
(07 (SY)** x(8Y)*°  (0.71%)* x(0.72)
59 ” 2 (54,6.75 s)gi_ X (0.7 Y )5 ol HH &
— 0-7
= aSXl"").‘_)S GT SST (Female) 14/11/2018 (Shift- 01)

(8Y'25 (b) 0.35

() 175 (d) 0.25



Pm—

101. On simPlification

0 25 3 " 0.25  (2)0:25 ., : . 3
X (2 ) X (2 (3 )”}(293' (49) (512) (8)"%° x (729)° + (64)

f’j; ax(-0-31s) YyX0-S (343)3 % (256) 7 x (81)°
(-I a (2) - (3) reduces to /@ =JFaua WH #-

. ‘29.5 0TS 4 PGT CS (Female) 26/07/2018 (Shift- 01)
X 2 = X3 X 4 3y 2.25 (b) 1.25
X 93 32 08 (c) 1.5 (d) 2.5
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102. If 5./5 x5° +5%/2 = 5**2, the value of a is:
\~_________.

afg 5/5x5% +5%2 =5**2 | a & WA &:

N L (b) 5

(c) 6 (d) 8

COMPLETE )




3l"'3 X 4n+ﬁ % 25.+1 4

2q+ li . 22 103. If 27!"1 xsl—ﬂ % 1251+4 2 1526 ’ then the value
230"6 ) of /a+9 is:
a+12-30+6 32 @at k25t 4
22 :22 . 27"‘125'“‘ 15% © @ Ja+9
g
-Q+I8
2 - o* (a) 4 b) 6
9”5 (d) 8

= Q+18=9 - mq
E
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Kxifl, y 32n+l n
i__—gm » 3n__| 104. The value of (24 3)3 x 3% is:
9n % 3n-1 $

(243)5 x 3271
9n ” 3n-1

(a) 3 NI g

(c) 6 (d) 12

H—TT'CIFI%:

oo+ -2 S+ | {
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— e ——

(aq::,)"x 5t 104. The value of (242)5 xns_fml is:
qQ° x 3 oo
= . IXB'XS' — C' =
1 (243)5 X 321”1 N
<hl HIH %‘:

9n ” 3:1-1

(a) 3 NI g

(c) 6 (d) 12
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

L
P/ q ' ’é_‘ 105. The simplest value of the expression
y¥x2xy2 1
2% 0% L
259 A\ Z 2x3™ =
= (2 *xo'x2® |
2 x 9! yfveafaa &1 a9 |97e WA 2
= 9~+|+_|_.._ 1 . %
(22":. - /+/ = 41“‘1‘ 3\1!2"2" :
- : — b
= 98 i

2 (;)4 J M

) 4 U's g @ 8 8= 6
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106. If 27%<' = (243)° then value of x is
gfa 272<1 = (243)° 1 x &1 UH &

ar 3 (b) 6

(c) 7 (d) 9
,3'3(21-1) _ 35:('3
:)/{(2-,(_") _ SXZ
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107. If 3 = 81 and 81*Y = 3, then the value of x is
~—— .

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

afg 37 =81 3IW 81 =3, A x T UH &
15
(a) 42 (b) o
1_7 ;
s (d) 39
31-‘3: ) ’x%:\{
3“‘(1"5) _3I A-\- 1
&\\*
X=ht )
&X ::_I__]__q
)(:n"f



BY ADITYA RANJAN SIR

108. Find the value of x + y if 2*=8"*! and 9¥ = 3~-°
x+y$rmslmaﬁﬁ|qaﬁf 2x=8r+laﬁrgy=3x-9

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

(a) 22 (b) 24
(c) 26 ~{dy27
2\(__ SQj-I-l) 329: 3”("3
% = 38-[3 Ay = A-9
3&"‘3: QU_{_%
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2'1..3 xtY —3— 109. If 32::—? = 3x+y @ hen the value of 3 will

3 = be:
-y = Aty = —3— atg_3**7 = 3% = 27, @@ 37 H WA F:
1
Q‘Xﬁ = % (a) 3 (b) J3
X4 = 3 :
— Q_ 1
/3/‘&:3_1 a \‘9}/\/5 (d) 27




110. 1f(5)- 3= 13438 and 5! + 37" = 9686, then
ety = k/

51-"'.1..38“ = Q686

»L 3 9= Q666 afe 5"‘ - 3Y = 13438 31T 5! + 3v*1 = 9686, T
3 g + 33 o
(a) 9 (b) 11

5  s%4+1539-9686x5 | (143 o
> 3438 +3°4 1537 UB430 5%= 13y38 +3Y

°) 63839997 | L 5%= 13438 +2187

! 218‘1 = 1525
..) . ‘ S =
| Xty 64

\ " :‘3




BY ADITYA RANJAN SIR

COMPLETE \JV:¥ ¥ s N} COURSE (For all govt. exams

| 111. Solve for x:

A 3" - yse 1
X A_ 4 = ues 3*—-3*1 =486
’ 3 x h T &
=) 3X31-3x: 4S8 m

x o Qx~-1 -

3 3 (3-1]=1use s -

) oy :-Ll%%, (a) 7 (b) 9

=) e o6 (c) S (dy 6

.e: 3‘{:8
38""21:3 3Q_b -~ 3Q
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gy S

111. Solve for x:

x & Tow a1 &t
3x- 3! = 486
(a) 7

BY ADITYA RANJAN SIR




o* 14 o**'= 320

5 § + §°a'=320

o) g‘x[_l_ +2[=2320



W@ ™' 97

9%+ &°
- 64+ JS6
= 390

'~ B20



Ll #2213
@S HD

169




COMPLETE

C

ﬁ+[2ﬁ: ISJE

5% 4+(2% = 182

-Zﬁzz

/Y ¥ s NY COURSE (For all govt. exams

BY ADITYA RANJAN SIR

113, If_§_\/; +12"* = 13'*, then x is equal to
afg 5% +12°* =13, @ x W& &

25
@) - by 4
(c) 9 (d) 16




COMPLETE

q{’tﬁ -(¥7)"

/Y ¥ s NY COURSE (For all govt. exams

BY ADITYA RANJAN SIR

114. If x*'* - (x\/g_c)" then, x equals
A x5 = (x/x)* ®, A x TE B

4 2
@) 3 b)
3
CE @ 3
M QmXQ“ = Q“‘H—h
QM- QN

"'ﬂ'n‘:.:.r‘
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115. If2*+ 3= 17 and 2**2-3Y*1 =5, then:
afg 2+ 3Y= 17 41 2**2-3v*1=§ §, 7
SSC CGL TIER- 11 07/03/2023

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams




BY ADITYA RANJAN SIR

115. If2*+ 3= 17 and 2**2-3Y*1 =5, then:
afg 2+ 3Y= 17 41 2**2-3v*1=§ §, 7
SSC CGL TIER- 11 07/03/2023

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams
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COMPLETE |\ V:¥ ¥ s N COURSE (For all govt. exams

. Y3 -2 z&% 2x3-3
q%& -2%:=2723 116. If 9"'*;' - 222 = 4* - 323  then x is

9-2 - __§ & ?_,O ol
. = afg 9 2 -222=4x-3>3 A x¢
2
95 ) s
3 4
€ 4 d) 35

4 9
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117. If 8%+ - 8<-1 = 63, find x
gfg 8%*1 - 8x-1 =63 ¥, A1 x ATA HifeT

(a) O _(br1
(c) -1 (d) 63
optien(b)
g 8°
= 04—
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0.2X2 02X5 q(8 ,)}é 118. What are the values of x and y that satisfy

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

y . 9 both the equations?
uxk
2¥%0-6 1
a X 9 8X 3 20.7.:: 3 3-1.257 =8\2/__:and 40'3"':. 90.27 - 8(81)”5
" x9 8x3%  xofty @ @ @A ww & W ae Wi @

—_—

20.7x = 3-1.25y =3% 3T 403« go0.2y = 8(81)”5

\( x=2,y=5 (b) x

c) x=2.5,y=6 (d) x

S

, Yy=2
3,y

S



COMPLETE
0-3%

Y

0Y0.3X%
>,

-2

8

.Y ¥ s N COURSE (For all govt. exams BY ADITYA RANJAN SIR

118. What are the values of x and y that satisfy
both the equations?

20.7x 3-1.25y = 8\2/__: and _&0 .3x .9_0.27 3(31)”5

x3dT y& @ ®A A UH & A I AUIEHIUN @
mmg?

—_—

/

90.7x  3-1.25y =3ﬁ affT 403 go.2y = 8(81)Y/5
27
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

K- 39z 6 =K g
| a,x_ Kj_ BB:KI. 6’1:Kfi_19. lf2x=3Y=6-l then ;+;+; is equalto
SYJOCICAN I
B o & uﬁ2x=3r=6-=#r(;+y+sz%
i T -
R L (20 (b) 1
KXY -1 3 1
. eal. ! (c) 2 (d) "'5
iz J"f-'--l.:-—L -
3 & Q an‘_om-l-n
’54,,3+¢



g=y'z9"
9 o - M- 2"
S A= 23:3&

m;a:z
v

= 8
R B xR = 98¢

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

1 1

1

+ +
2x 4y 62z

afg 2* =

FT U T

is

BY ADITYA RANJAN SIR

120.If 2 = 4Y = 8% and xyz = 288, the value of

1 1 1

47 = 8* 31T xyz = 288, —+—+

(b)

(d)

N = B

2x 4y 6z
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TYPE - 06

INFINITE SERIES



BY ADITYA RANJAN SIR

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams

Ol1. Infinite series in product type

\ X\/ X\ XKeeeedOO = X
= N oo
3 K- K= \h\fﬁ e
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123. If x = V"4\/4\/4\/K , then what is the value of

xy
Hﬁ:'x—\4\/4\/4\ £, A x o U ¥ 87

PSC CDS 16/04/2023
(a) 2 b 4

(c) 8 (d) 16
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124. \/7\/7\/7\/7....00 = 343" theny = ?

J

\i7\;7\/7\/7....00 = 3437 Fﬁy =7?
3 ) 2

() 7 (d) 1




o = \|2\S| q;]:z 3iq — - 99 125. The value of \/2#4\/23]4\/2-'{/2_"_ is

2 _ qux_
%= 2 , ;
S %=z 8x(uxx) J2§/4\/2‘{/4\/23/Z.... & U §
=) x> = 32 W (b) 22
3 oz 2° c) 2 (d) 2°
N———



- .
126. /27 /27 + V27 = .....0

,{ F’? =D
: * cocoe o0 = g
~J27=J2_ . _ o \/27+\/27-.-\/27

A=\ 277+ 2.7; _--_ (b’ .
) i T @ ) 427
. (c) %27
5 P

R,
-3) 7(3-_21
:5 w =
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02. Finite series in product type

X\/ X X\/;

N= Count square root=4

Qng = ’kzn Lé'tl«‘ .
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@ 128. Find the value of \/a\/a\/a\/;

Q-1
ong= @ E
- \/a\/a\/ax/;wmmﬁﬁﬁq-
: 15
(a) aB (B} 416



BY ADITYA RANJAN SIR
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129. Find the value of\/ \/ \/
2 NN T TT
= ]
= _521 \/7\/7\/7\/7\/'7\5 & A A -
e ._I GLI
63 3_:!.
(3 7o (b) 7%

15

(c) 71 (d) 77
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130. Find |12 12\/12\/12J12JE >

V’lz\/lz\fu\/lzvﬁz\/ﬁ FT O JT FE

32

(a) 123

31

(c) 1232

64

(b) 1263

63

1264




71 ¥ {aVaja- —eo

T2 # \aJaJava
# | a+latia . _ oo
£ \ a-{@—Ja= _ .co
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03. Infinite series in addition or subtraction form

VX + \/x £ VR £ VK £ .ueenr00

There are two types of questions.

TYPE- I: Factorise ‘x’ into two successive integers,

If it is addition series then answer is
greater one and If it is subtraction series
then answer is smaller one.



o \2+2HizZ

fos o= [12+iErs <0

S o= 124\ 12412+~ -

D A= 1249
ERE
K q(j-g-H?"‘t-Iz:o

=) 'X(X-q) +3(’X-k{):0

.:‘)
(X"q) (% -}3):0
{55 Ll e

\/

A-12=0

R

3 o)
A(x -l-\.[) ...3()( M=o
) (X+q) O-3)=p
A=~y A=
X\



Jiz+iztiz= <0

0. \fﬁ."\ﬁ?_-:ra—-"o

4 x@O"
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131. \/12 + Jlg +J12 +..... is equal to.
2N
4})(9
J12+.12+ /12 +..... & T &:
(a) 3 N

(c) 6 (d) 2
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132. Find the value of

(a) 3 (b) 4

\(c) 6 (d) 5



BY ADITYA RANJAN SIR

COMPLETE \j";¥ ¥ s 8] COURSE (For all govt. exams

133. Let x:\/2m+v§272+\/272+\/272+....+m then x

equals
AHET x = \/272+~Jf272+u"'272+....+ooa?r X
TET g (67X 17
(a) 16 (b) 3
(sr17 (d) 4.3
17
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134. Find the value of the given expression.
fau U =Sk & UE AT SiTAul

- J20-20-420-......0

A4X5 SSC CGL TIER- II 03/03/2023
\M (b) 6
(c) S (d) 2



COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams
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135. What is the value of :

(‘/3%' V72 -J72-....c0 ]+

8 X9
[\/20- \/20- V20 - ....c0 ]a;[ 0= =1 27
’ DOE PRT 13/11/2019 (Shift- 02)
(a) 4

(c) 3.6 (d) 8
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136. Let x =\/42-\/42-\/42-\/42—....-00 then x
equals [y~
U X = \42-/42-/42- 42 -....—00 AT X
et g

(3y'6 (b) 7

(c) Between6and 7 (d) Greater than 7
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COMPLETE |\ V:Y ¥ s NY COURSE (For all govt. exams

\xi\/z:i\/xi\/xi ...... 00

TYPE- II: If ‘X’ can not be factorized into two
successive

J1+4x +1




QX +bx+¢ = O

A= ‘_b-'f&b\i‘-.qQQ
X -




o (aEmT - [ o (e

ong = VI+4a + | | om=zylt4a = |
2
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Oné:\l 1+yaq —+ | 137. J5+ \/5+\/5+____00 =P
2 :
e JQQ_I + | ( 2;+1 (b) \[2—;_1
b,
V21+3 \/ﬁ_s

(c) 2



BY ADITYA RANJAN SIR

COMPLETE \JV:¥ ¥ s N} COURSE (For all govt. exams

138. \/31 + {31431+ 31+...00 =7

(a) 5/5-1.5 \})/2.5\/5 +0.5

55 -1 2,/31+1
© @ =
Qng= | 1+Ua + |
2
= \RB54| - SB4| g
2 o - 'S\{g-}{)g
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COMPLETE \JV:¥ ¥ s N} COURSE (For all govt. exams

139. J.’L-—J1- A-...cc0 =7

M:}|l+‘40 i
2 J5+1 J5-1
-3 E‘é‘l (a) 2 (b 2

S+3 S-3
@ @
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

140. Find \/19 ~\J19-\19- /19....0 =7
oM = | 1+Ya - |
2

= "M -1

2

19-\19- 19— 19...0 3 =¥

4 A J19 +3
e w

VT7 +1
c) >

( (d) Between 4 and S
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AN IMPORTANT RESULT

~J4a+b%+b
2

x=\/a+b a + bva +
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AN IMPORTANT RESULT

2
~/x=\/a+b\/a+b\/a+ ........ 00:\/4a+2b o

2 _
\/y=\/a-b\/a—b\/a- ........ 00=J4a+b .
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AN IMPORTANT RESULT

x=\/=a..+@/a+b\/a+ ........ 0 = \/4a+2b’+b
y=\/a-b\/a—b\/a— ........ 00 \/4a+b2-b
X-y < b:fb: Ay = {‘liHb +b m—
:ﬁb‘: b '-L{qu;’




O. o= \\3a5+%\las+2§]3s _ _00

il

@,
-5
’)(-—H:@ =2
')(éj = Q = 85

5_—, JSS -2

36-2Y35 -0

®
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

0
Gnét\[”";" o 141. Find \/36?+%\/35+2\/35+2J35+....m =1
= \“('IO'I'(“ +2 :
2 \/35+2\/35+2\/35+2\/35+....00 E1G I T
- 242 _
5 -0 (a) 6 by7

(c) 5 (d) 6.4
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

141. Find \Ea@t_%\/as +2y35+2y35+....00 ="

\fss + 2J35 +2.35+235+....00 7@ HY

(a) 6 by 7
(c) 5 (d) 6.4
e

XS
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

oW = _\l Ya+b® -b 142. Find \/1\55—____3,\/154—3\/154-3\4(154-....@0 =p
) 0 - a b
r G B | | |
] iﬁle’;g /154 - 3J154 - 3154 - 3154 - ....c0 7@ &1?
= =283 - (a) 13 (b) 14

> (c) 11 @) 9
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COMPLETE |\J ;¥ ¥ s N\ COURSE (For all govt. exams

142. Find (154 - 3154 - 3,154 - 3154 - ....c0 =?
1q X1

/154 - 3154 - 3,154 - 3/154 - ....c0 7@ FX?

(a) 13 (b) 14

N:gt! @ 9



©. Q-b=5 ab=3 Q+b=7?

@ (a +b)2= (a-b)*+Y4ab

S (a+b)*: @S +12
=) (a+h)*= 27

=) (Q'H')) = {?7
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COMPLETE |\ V¥ ¥ s NY COURSE (For all govt. exams

p-0=b=® 143. If P = {11+ 3y11+3y114+3/11-....00
PQ = a"""@ Ja g\/
f
Q= \f11—3\/11—3\/11—3\/11-....m thenP+Q=7?

(p.}Q)q'-; CP-®)2+°IP(9
=) (P+8)%*: 94Uy afg P = \/11+3\jr11+3¢'11+3\/11-....m WA Q =
=) (P40)%= 53 ,. f :

D P+0=\S3 y11-3y11-3{11-3J11-....c0 MP+Q =7

(a) V47 (b) V65

(c) V41 \Mss



0. Pz \l6+2i6t2 16 - —09

=\16-2 |6-2\ l6— -2
o [l

A

—

@P-@:—b =2
@ P@:Q:I&

© P+¢

P1q)= o -Q}+4pg
=) (p.‘_@)'!:
h...)(h@)z': R
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AN IMPORTANT RESULT

COMPLETE |\J V:¥ ¥ s N} COURSE (For all govt. exams




O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

ua-3b~ +b
2 144. \/Z+§\/7-2\/7+2\/7—2\/7+.... =7
= J&8-12+2
W (a) V51 (b) 4
— W+2 —
2 @ 3+15

) =5 \4).3



O A AMATHSE S A oo eam_B8Y ADITYA RANJAN SIR

_@-ﬁ— \/7_2\/74_ 2\/7—-2\/7-—}-2\/7 seee

2 =7
o b
':ALB";"Z (a) V51 (b) 4
L \IE-Z """Z -(
=92 4 3+ 15
2 i 40y Beas @3 T
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AN IMPORTANT RESULT




COMPLETE \j";¥ ¥ s 8] COURSE (For all govt. exams

Qn&: Jl{a-%" -b
2
= i@q-g- 1

|l
8],

\V

BY ADITYA RANJAN SIR

145. Let x = MG+J6-J6+

4 equals

.. to infinity ; then

HHAT x = \/6— \.‘!6+ \,-"56— V6 + ooee

aET B

H 37\d dh; a1 x

(a) 3 (b) V21

JZ_1+1




9. 5+{5+J5t- .0 [©. N 5-V5-5 = - o2

M;J'l"‘lﬁ‘l" ang = s
2

2
QM!-: mb+| Gﬂ.&:q !+2.0 C l
2 2.
= \21+] =gy
5 e
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MISCELLANEOUS
QUESTIONS
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G-
o -1
ﬁ 146. If /5 =2.24, then find the value of \/://—; =1
- @S- l)X(E-I) I —
\S+1 (I3-1) afg /5 = 2.24, 7 \/\/:: &1 | {TE Hifaw)
- > )
(E"D SSC Phase X 04/08/2022 (Shift- 03)
2 (@ )) (a) 0.68 (b) 0.55
—2"1) ~2.4y. 0.62 d) 0.59
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=42y .
Q1082
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5{3+513
= io{2 = 171:32

147. If 5\/3+J7_5=17,32 then the value of 14./3+./108 is:

afg 5/3+/75=17.32 %, @ 1443 m qr
Aa 36X3

y{3+6{3

= {3 = N-32x2
= 3Y-eu

SSC CGL 20/04/2022 (Shift-03)

(a) 32.46 (b) 35.64
oy 34.64 (d) 33.86
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148. Which of the following can be a rationalising

w factor of (Jﬁ +/3 + JE)?
@ ({54-{5-]-.]3))( (‘E- ﬁ-\@)ﬁ fafafea 9 9 FF-91 (V2 +V3 +V5) = uftaaaRzon
= (a_)\z’ﬁ+,z’.3-ﬁs%_ﬁs TUTIR &1 Hehdl €7
PAL
- (-6-al)le ) @) (V2-V3-5)V6 \B)LA2+/3-5)6

@ (\E‘\'\Ehrs) ({5-}@_&)?& (\E-\Eh/g)‘/g (d) (\5+~/§+\/§)J§
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(3 )148. Which of the following can be a rationalising

factor of (~/§ +V3 + \/E)?

frafafaa o 9 -4 (V2+V3+V5) = gfragToT
T BT Hehal &7
SSC CHSL 27/05/2022 (Shift- 2)

@) (VZ-V3-V8)8 @Y (v2+3-5)\6
© (V2-V3+/5)V6 (@) (V2+/3+/5)/6
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o= |2+@_‘. Iz-\ﬁ 149. Find the value of /2, ./3 +./2-.3 -

= q+22 1 ':1:22_3_ J2+ 3 ++2-/3 T WA FE FHifaw)
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(')()" 2+@+\r2_—") 149. Find the value of /2, /3 4./
2 -

5 o= (FF)s (E@)"  V2+V3+y2-J8 1 M W
|
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- ~ SSC CHSL 06/06 :
2©A= 2+ﬁ+2- 42 \_9/\/6 (b) 2 s
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+\/73—\/1—§ = ¢, then the value of c is:
i 8 [ 48
1+ ——1-— = a ¢ &1 = Taaer
afg \‘I 1 - \f - c B c
BITTT?
\ o1 1 ) 4
(c) 3 (d) 2
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(b) 4
3 (c) 3 (d) 2

150. If \/1+J73—\/1—§ = ¢, then the value of c is:




